· Let V=W=
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and let 
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 be the projection onto the xy plane sending (x,y,z) to (x,y,o).

a) determine the kernel of T

b) determine the image of T

c) Find a basis of the image of T and a basis of the kernel. Show that these two bases together form a basis of V. find the matrix of T with respect to this new basis (use this basis for both V and for W).

· True or false? Let V be a four dimensional vector space over the real numbers, V=W and T the identity map: V->W. then there exists a basis of V and a (possibly different) basis of W such that T has the matrix    
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 with respect to these two bases. (Justify your answer).
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